1. Choose the Letter or Combination of Letter for those 2 questions
A. FED buys U.S government securities

B. FED Sells U.S government securities

C. FED lowers the discount rate.

D. FED raises the discount rate.

E. FED lowers the reserve ratio.

F. FED raises the reserve ratio.

I. Which of the above would increase or tend to increase the money supply?________

II. Which of the above would decrease or tend to decrease the money supply?________

                        __                 __              __                                        __  __     __

2. Model: G=G, I=I(i),  T=T+ty, TR=TR, S+T-TR=(1-c+ct)y +c( T- TR )- C,   

     Md/p=M(i,Y), Ms/P= Ms/P

I. How would you find tools for fiscal policy have been changed to increase aggregate demand?

                                                __

a. Government Expenditure, G

                                                        __

b. Government Taxes, T

                                           ___

c. Government Transfers, TR

d.  Government Tax Rates, t/t’

3. When the government runs a deficit, what tends to happen to each of the following?

a. Interest rate   

b. The price of bonds  

c. The value of US dollars in terms of other currencies.  

d. US exports to countries overseas.

e. US imports to countries overseas

Key Symbols
Da – Aggregate Demand

Sa- Aggregate Supply

C= C(Yd) Consumption of  function of disposable income and includes an autonomous 

                           __

       Component, C

T= T(Y) government taxes a function of real GDP, includes t or t’ for the marginal tax 

                                                   __

and an autonomous component  T

        __

TR= TR  government transfers which are autonomous.

      __

G= G   government expenditures which are autonomous.

I=I(i)  Investment as a function of the real interest rate. It includes i  the real interest rate and autonomous component, I.

    _

I= I  Invest is all autonomous and does not depend on i.

Md/P=M(Y,i) demand for the real money balances which depend upon real income Y and real interest rate i. 
Md/P=M(Y) Demand for real money balances only depends on real income, Y. 

dPe/dP=1, where there are no money illusion
dPe/dP<1, where there is money illusion
                                     __  __     __                                        

S+T-TR=(1-c+ct)y +c( T- TR )- C   is the savings + net function.

Y= Y(N,K) short run (capital fixed) aggregate production function.

(W/P)d= f(N) demand for labor as a function of the actual real wage.

 (W/Pe)s= g(N) supply of labor as a function of the perceived real wage.
